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Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Let R; and R, be two relations on E”defined as
(a,b) Ry (c,d)ifad —bc=0

(a,b)Ry (c,d)ifa+d>b+c. Then:

Options :

7155058081, R1 1s transitive but R, is not transitive

7155058082, R2 1s transitive but Ry is not transitive

7155058083, Both R and R, are transitive

7155058084, Neither Ry nor Ry is transitive

Online
Mandatory
20

20

80

Yes

0

1
715505159
Yes

null



Question Number : 1 Question Id : 7155052569 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1
F2? (O STO R, € R, 7T U0 @ WETo
(a.b)Ry (c.d) TM ad—bc>0 | T
(a.b)Ry (c,d) TMa+d=b+c! FTT| T(I 8
Options :
7155058081, R1 G0 AT g R, 74

7155058082, Ro ARG k&= P Ry 77

2155058083, R1 '@ Ry TOTHZ FRIF

-

1155058084, R1 € Ry OF (TTE AL 7

Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 (30 =
Let a and P be the roots of x* —3x +9 = 0. Then | L. | s equal to
L0 (9p)1°)

Options :
7155058085. 1
]
7155058086. Y
7155058087. 3

7155058088. 9



Question Number : 2 Question Id : 7155052570 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

5 R £ 30 30 2
4 0 G, x2 - 3x +9 = 0 GF T | ST | :‘ 1“(90;3:1” | A 8
| (Do) J

Options :
7155058085. 1
1
7155058086. 9
7155058087. 3

7155058088. 9

Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

For z=2 + 5i. the modulus of 273+ 2122582+ 4is:
Options :

7155058089. 1153

7155058090. 947

7155058091. 337

7155058092, 837



Question Number : 3 Question Id : 7155052571 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
¥z =2+ 51 | O 22° + 212° — 582 + 4 T T Z57 ¢
Options :

7155058089. 1153
7155058090. 947
7155058091. 537

7155058092, 837

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If the system of equations

Kx—ﬁy+\/§z -J7

= = —
\."IJ.T + < 3}-‘ = '\."EZ =411

30x +(3V15 = 5v6) y + (5715 = 3310)z = 5421 + 3455
has infinitely many solutions. then K? is
Options :

7155058093. 27



I
7155058094, 3
7155058095. 9

7155058096. 3

Question Number : 4 Question Id : 7155052572 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Ke By 45z =7

PR

= = /
\,"_:x + ﬂ."fi'].-‘ —2z=4+11

30x +(3V15 - 56) v+ (5v15 = 3J10)z = 521 + 3455
EHL ] HAE 9IS S K2 O9 W+ =4

Options :

7155058093. 27

'-.N"l_

7155058094.

7155058095. 9

7155058096. 3

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

"z 0 fa 0
B=
\U lﬂ,-'

(A%B)#21 =201, where #* is defined as A%B =A%+ B, then | of| 1s equal to :

For o, p € E. if the matrices A=

| VAT :
and [ = 0 \satisfy the equation

\ﬂ iy

Options :

7155058097.2\ﬂ§

7155058098, 2v/2
7155058099, 4

7155058100. 2

Question Number : 5 Question Id : 7155052573 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

fa 0) _ (o 0). (1 0)
,B= e

0 8) 0 a) (01

(RAMA % =A% B=A>+B’, O[T | off| G T 7771 ¢

Options :

43, p € R|TMW A= T (A%B)# 21 =201 (% 7% I3,

7155058097.2\ﬁ§
7155058098, 272
7155058099, 4

7155058100. 2

Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

. —— 1
The sum of the first eleven terms of the series is . S

Options :

7155058101. 133

7155058102. 133

7155058103, 33

7155058104, 67

Question Number : 6 Question Id : 7155052574 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 2 3 o
T+t—— 4+mﬁﬂmﬁﬂ? o omafe A (T I &

1+12+1% 1+2242% 143243

Options:
61

7155058101. 133

66
7155058102. 133

16

7155058103, 33



33
7155058104, 67

Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x+2

lim(1+3x) * s equalto

x—0

Options :

7155058105. &

7155058106, e-

7155058107. e°

7155058108. &>

Question Number : 7 Question Id : 7155052575 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
x+2

im(1+3x) * =" &

x—0

Options :

7155058105. &

7155058106, e-

7155058107. e°



7155058108. e°

Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

' o : : g s . x=5 y=12 z-10 7.
Let pw,ﬂ‘ﬁ]bethe image of the point Q(1,2,0) in the line T 5 o ,then (PQ)~ is

equal to
Options :

7155058109. 90
7155058110. 180
7155058111. 360

7155058112, 270

Question Number : 8 Question Id : 7155052576 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

i p(o,p.), Q120) R afoR 222 - 20 @ B, o1 (o R T

Options:

7155058109. 90

7155058110. 180

7155058111. 360



7155058112, 270

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A box contains 7 red and 9 white balls. The number of ways of drawing 8 balls such that there are at
least three balls of each colour, is :

Options :

7155058113, 8820
7155058114, 10584
7155058115. 1764

7155058116. 3515

Question Number : 9 Question Id : 7155052577 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

00 A0 716 A 972 9 16 W] 361 SIg, 0 (AF FOISN WITd 8 16 I (N3 I
MO ATOlH G TN foaib L3 3 4TS -

Options:
7155058113. 8820

7155058114, 10584

7155058115, 1764



7155058116. 3515

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

1 -~ L] M 1- b | 1
Let [t] denote the greatest integer function. If [[1+2*+¢* lar=a, then 365 - 254" +84° - o' 15 equal to
I J

Options :

7155058117. 19
7155058118. —19
7155058119. 18

7155058120. —21

Question Number : 10 Question Id : 7155052578 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

43 [1) 261 M3 AT TTFF| I 112, 319, 2D OLJ
Il _

366{—25&': +8u3—u'1 HERYE

Options :

7155058117. 19

7155058118. —19

7155058119. 18



7155058120. —21

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let PL = 8 units and QM = 2 units be two parallel line segments such that the line segments PM
and QL intersect at the point R. If PL and QM are tangents to a circle passing through points P, Q,
R then radius of this circle is

Options :

7155058121, ~2
7155058122. 2
7155058123, 242

7155058124, 4

Question Number : 11 Question Id : 7155052579 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

4 PL=8 I J92 QM =2 I b WG (RU1¥ M@ PM R QL (LG R
00 (R 0 | TMPL B QM PQR RN Jod ™R T 4 36103 I 24

Options:

7155058121, ~2

7155058122, 2

7155058123, 2+2



7155058124, 4

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

For some o € 17, let PQR be a triangle with two fixed vertices P(2, 5) and Q(a, -11). If the point R
moves on the line /j: 9x + 7y + 0 =0, then the centroid of APQR moves on the line /, which is

; 20 i g : ; k ¢
arallel to /; at a distance units from it If the distance of Q from [, 15 ——. then k 1s
g 1 3130 Qo 3130
equal to
Options :

7155058125, 117
7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 12 Question Id : 7155052580 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
i'r:lae*'|WNPQR-MM%&WWNQ%%% 5) & (a,-11)|
T R 1y: 9+ Ty + o = 0 (FUT BT IR 5, WPQme« TR |, (4T

iR AT | (ST A (7 1, (R 1, 47 o & fl TR AT | T L TTQ &R

AV TR DR

k
N
¥
Options:
7155058125, 117



7155058126. 129
7155058127. 131

7155058128. 133

Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

lSt

Let A{x;, v;), i = 1,2,3 be points on the circle 12+ %= 10 such that Aq lies in the 1 quadrant and it

is the image of point A, with respect to y-axis. If the distance of point A; from each of the points
A, and A; 15 2, then twenty times the area of the A Ay Ay Az is

Options :

7155058129. 12
7155058130. 30
7155058131. 24

7155058132, 48

Question Number : 13 Question Id : 7155052581 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

41 A, ). 1= 123 B 24 9% = 10 08 GO AN fORID [ ATH T A, SAATATH
MR s A, G - BTG TN AfORT A, T WM 4, 4R 4, GOT RO A, K
7Y 2 2, O AA; A Ay 9T CPART PG 09 2




Options :

7155058129. 12
7155058130. 30
7155058131. 24

7155058132, 48

Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
The remainder when 7% is divided by 15 1s
Options :

7155058133. 5
7155058134, 7
7155058135. 9

7155058136. 11

Question Number : 14 Question Id : 7155052582 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

78 (P . 15 QIR O FACe OITFe 2e

Options :

7155058133. 3



7155058134, 7
7155058135, 9

7155058136. 11

Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If the plane y = ax — Bz + v passing through the point (1, -1, 3) is perpendicular to each of the
planes 2x +y+z=1and 3x—2y+2z=0, thena+ f+yisequal to:

Options :

7155058137. 3
7155058138. 13
7155058139. 19

7155058140. 27

Question Number : 15 Question Id : 7155052583 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

9 y=ax—Bz+y 90 (1,1, 3) TR RE 20+ p+2=18 3x-2+27=0 GOTA2
19, O o+ f+y NI :
Options :

7155058137. 3



7155058138. 13
7155058139. 19

7155058140. 27

Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

= M AN P S CH 4 e g P 49 A ~ .
Let a=1+42+3k b=i—j+2k c=2i+j—4k be three vectors. If 7 is the vector such that

cgaining fiaa gl g — ::_’ =) — . A A

rXa=|b+c|xa and 1+ b—c|=0  then ,-.(H.,i_,';) is equal to :
L4 ) \ J )

Options :

7155058141, 3

7155058142, 4

7155058143. 5

7155058144, 6

Question Number : 16 Question Id : 7155052584 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



- =3 (=2 23} =

49 a=i+2043k boim 42k c=2i+ -4t 49 G G0 (OFIVIGH 1xa=|b+c xa
I“ jl

3 (=2 3) I A
A48t b—c|=0 R W[R[ F*(H-j
\ /

Options :

7155058141, 3
7155058142, 4
7155058143. 5

7155058144, 6

Question Number : 17 Question Id

e

_k) A AN 2¢T:

: 7155052585 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The probability that a randomly selected root of the equation | +x + 1% +..+ x18.= 0 satisfies the

equationx' = 1, Is
Options :

7155058145. 0

7155058146. 59
2

7155058147. 59

7155058148, 118

Question Number : 17 Question Id

: 7155052585 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

1 +1+ 14+ I TTRROT TR T4 7T VR 9% T G0 S 1/ = 1 (T

% TIT T 76 3

Options :

7155058145, 0

7155058146. 59
B

7155058147. 59

7155058148 118

Question Number : 18 Question Id : 7155052586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Let X have the binomial distribution B(n, p). If its mean is 3 and variance is 2, then P(X < 3] is

equal to :

Options:

7155058149. 3

253 2

7155058150. 3°

163
7155058151, 3°

835
7155058152, 3°



Question Number : 18 Question Id : 7155052586 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

47 X T IHIEE A G0 ol o (o BT TR SRRl i 6 p | I @
ﬁﬂﬁﬁ?ﬁﬂﬁﬁﬁ@ﬂHSﬂmﬁmwm42¥§@@4HX¢%)ﬂmﬁé

Options :
29 28
7155058149, 37

25% 27

7155058150. 3°

163
7155058151, 3°

835
7155058152, 3°

Question Number : 19 Question Id : 7155052587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

R N
. . . a4l xc—3x+2].
The domain of the function f(x)=cos™| —— | is:
Lot de—1]

Options :

| E—LE}
7155058153, \ 5

_’x

i
7155058154.[5 J



7155058155, -~ =42~ L. 2 =1

7155058156, (. — 1= 42) U (42 = 1.0)

Question Number : 19 Question Id : 7155052587 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ir-. 2 ‘-\I
4] x—3x+2 |

flx)y=cos | — |
Voem+2xr—1)
TATI0F TGN TN T3 ¢
Options:
:r ﬁ_l.‘ §:|
7155058153. * &

i
=00 |
7155058154, [5 J

7155058155, -~ =42 = L. 2 — 1]

7155058156, (—o=.—1—+2) 1w (2 = 1.59)

Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which of the following statements is a tautology ?

Options :
7155058157. (P = Q) V p) =g



7155058158. ((P A Q) = p) = g
7155058159, (P Aq) A{~q)) = p

7155058160. ((P=q) V p)=p

Question Number : 20 Question Id : 7155052588 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
=7 w 9T @ (Gitare ¢
Options :

7155058157. ((P= @)V p) = q
7155058158, (P A Q) = p) = ¢

7155058159, ((P A Q) A{~q)) = p

7155058160, ((P=a) V p)=p

Mathematics Section B

Section Id : 715505160
Section Number : 2

Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 10
Number of Questions to be attempted : 5

Section Marks : 20



Enable Mark as Answered Mark for Review and

Yes
Clear Response:
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 715505160
Question Shuffling Allowed : Yes
Is Section Default?: null

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The curve y=x"+ | divides the area enclosed by the curves y + x| = 3 and y = [x~1|in the ratiom :
i, where m and n are coprime, then m + n is equal fo

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 21 Question Id : 7155052589 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

y=:1:2—l I, yoix =3 AR y=x-1 9P A % (5GP m : n D9 w7 P4,
(UM m & n AT CITF O m+n I W 26 |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText



Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The number of ways in which 30 identical pens can be distributed among 12 students so that each
student gets at least one pen and exactly two students get at least two pens each, is

Response Type : Numeric
Evaluation Required For SA: Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 22 Question Id : 7155052590 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
12 G TR K7 30 6 7% 4R com 9030 91 0| A 20D J% TS 3 com 91T
SRR, (T 715 T TS 71D oo 9117 T FOTIONF & oy O 791 VT 2

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

48
g gl .
Let (1+x”—x*) =3 ax™ Thenap+ap+ay+..+ a4 is equal to
' n=0

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 23 Question Id : 7155052591 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

-

(1417 —xt) =3 a 1™ | OIZCET ag+ ap + ag +...+agy 7o
. ' n=0

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If S, denotes the sum of first n terms of the series 7+ 10 + 16 + 25 + 37 +..., then S3p— S, is equal

to

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 24 Question Id : 7155052592 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0
Correct Marks : 4 Wrong Marks : 1

498, B 7410+ 16.+25+37 ..., (AAGF 22N n K (AP | O S50 S 97
A 209 |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
If [t] denotes the greatest integer < t, then the number of points , at which the function

f (x]z[x+xﬂ+‘x—x3‘+ is not differentiable in the open interval (~10, 10), is

1
v+ =
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :



10to 12

Question Number : 25 Question Id : 7155052593 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

43 [t] T ST PR S omRE | OIEA (10, 10) STERITH 5T WA
Fou RS TR I 2

_f(x)z[x+x3}+‘x—:(3‘+

1
X+ =
2

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Ifj dx _ I
(el +5)|1077+7 V380

log, | f(x) [+C where C is an arbitrary constant, then 7 (0) is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 26 Question Id : 7155052594 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

& l
J o= (0 CRTA € 05 5, T 7 (1) 9 WA =
{31"- +:‘}1~|'l“.'{'” +7 \'330 s

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let the equation of the hyperbola with foci (1, 5). (1, —1) and eccentricity \3 be

x“—2y +ax+by+c=0. Then|a+b+c|isequal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 27 Question Id : 7155052595 Question Type : SA Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

43 5 TIETHT T G RIgTas MR ol 27 (1, 5) €K (1, 1) | & #9580
ﬂﬁ@qxz—2y2+at+by—c=(}lwa—b—c|W |

Response Type : Numeric

Evaluation Required For SA : Yes



Show Word Count : Yes
Answers Type : Range
Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Let 0y, a, be the values of « such that the distance between the point (2, 4, 3) and the plane

3x+y+az+10=01s 35 units. Then the area of the triangle with vertices (ay, ay, 0),

1s unit-,

(a7, a1, 0) and |%)u
Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 28 Question Id : 7155052596 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Wul.uzzuﬂﬁ%ﬁ%ﬂ'ﬂﬁﬁmﬂmw&%3} IR 3+ y+oz+10=0 TR
T 5 S| O (g, 03 0). (., 0) 4K [ 22, 5.0 ey (o2 ergmion cvarran (2
GTT) T |

Response Type : Numeric

Evaluation Required For SA : Yes

Show Word Count : Yes

Answers Type : Range



Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

. =t N N s i Fi N ~
Let O be the origin and let the vectors OA=-3;+7; +5k, 0B=-5i+7j-3k and oc= , represent
three sides of a parallelopiped, where ;; is a unit vector in the xy- plane. If the maximum volume
of the parallelopiped is 2/, then a is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 29 Question Id : 7155052597 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

490 %7 YIRS Om=-31+7) +5%, OB=—51+7)-31 IR o= |, % 43600
AT AT G o110 AR (T, 26 1 Ol AHI0 (0F] T D
AEAEIHAGS A SR 2./ 2, Ol o 47 WA |

Response Type : Numeric

Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :



10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
X+y=2 dy X+y+l

If the solution curve of the differential equation X+ >2 passes through the

2+y-1 dx x+y+l

da+2

; o ( a
polnts (JE.JE) and (2.a), then 2a-log,

\ fy

is equal to

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes
Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12

Question Number : 30 Question Id : 7155052598 Question Type : SA Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

x4 > SRR STABICR TALA IF (12.47) KR8 2.0

~ X+y-2 dy X+y+2

x+y-1 a’x_x+}'+l
o +4a+2
o 2, ©14 20 - Iogc[%] ErRCET |

Response Type : Numeric
Evaluation Required For SA : Yes
Show Word Count : Yes

Answers Type : Range

Text Areas : PlainText

Possible Answers :

10to 12



Aptitude Test

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Adobe is a

Options :

7155058171, Lype of cement

7155058172, Lvpe of floor finish

7155058173, Lype of paint

7155058174, 1ype of Brick

715505161
3

Online
Mandatory
50

50

200

Yes

0

1
715505161
Yes

null



Question Number : 31 Question Id : 7155052599 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Adobe ¢
Options :

7155058171, cement Sd AP[dlwh

7155058172. floor finish &4 HARIdlwH

7155058173, paint A HAPII0oH

7155058174, Brick Ad ABR[dlwH

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Chandigarh is the first planned city of Independent India
Statement IT : Chandigarh city was designed by Swiss French architect Le Corbusier

In the light of above statements, choose the most appropriate answer form the options given
below

Options:
7155058175. Both Statement I and Statement IT are correct

7155058176. Both Statement I and Statement II are incorrect

7155058177. Statement I is correct but statement II is incorrect



7155058178. Statement I is incorrect but statement I is correct

Question Number : 32 Question Id : 7155052600 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
ﬁglkﬂ 1: T OE09d A ARFFO 127 Chandigarh

ﬁ@lkﬂ II : Chandigarh *TRTI4 2P 43':51@(."1'1 swiss french EQI% Le Corbusier
(IO T WTATE HITATH HTINGT God A6 [79g (21 [HI6© 9

Options :

7155058175. %qiw 14933 [A3M® 11 59AZ o)

7155058176. J9(® 1.493: RIS 11 ToIE B 9y

7155058177. 4 15797 68 [ 1 5079)

7155058178. f3fo 1 w7y (68 [9f® 1579

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Glass has low thermal conductivity
Statement IT : Glass can absorb, refract and transmit light.

In the light of above statements, choose the most appropriate answer form the options given below

Options :



7155058179. Both Statement I and Statement IT are correct
7155058180. Both Statement I and Statement II are incorrect
7155058181. Statement I is correct but statement II is incorrect

7155058182. Statement I is incorrect but statement II is correct

Question Number : 33 Question Id : 7155052601 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

{3 1: 16 ©17F 79 4T

{331 11 : 15 W1 (419, SO0 PO A1 & ST O W& T (0O A

[qgfoaf fefare Te ey g

Options :

7155058179. %qim I 433 991 11 GoAZ @)

7155058180. J9(® 1 933 [ 11 ToTE B9y

™ " T

155058181, 1991@ 13797 6@ [{9® 11 BT

7155058182. 3 1907 (68 [99© 11 5793

Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LISTII
A PPMUY [. [KAUSHAL VISKAS YOJNA
B. PMAY 1II. JAN DHAN YOJANA
C. PMEVY 1 JUTTWALA YOJANA
D. PMIDY IV, JAWAS YOJANA

Choose the correct answer from the options given below:
Options :
7155058183, A-L, B-1II, C-II, D-IV

7155058184, A-III, B-IV, C-1, D-II

7155058185. A-IV, B-II, C-III, D-I

7155058186, A-IV. B-III, C-I, D-II

Question Number : 34 Question Id : 7155052602 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

il 1 32 OIfelsl 11 (1S

LIST I LIST IT
A PMUY [ [KAUSHAL VISKAS YOINA
B. PMAY II. JAN DHAN YOJANA
C. PMEVY I [UITWALA YOJANA
D. PMIDY IV. JAWAS YOJAN
A6 [Regafe (A3 SfF Ted g -
Options :

7155058183, A-L. B-III. C-II, D-IV

7155058184, A-IIL, B-IV, C-I, D-II

7155058185. A-IV, B-II, C-III, D-I



7155058186. A-IV. B-III, C-I, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LISTI LIST IT
A |CP Kukreja [ IIM Ahmedabad
B. [Louis I Kahn II. Jawahar Lal Nehru University
C. BV Doshi I |IIT Eanpur
D. JAchyut Kanvinde| IV, [[IM Bengalum

Choose the correct answer from the options given below:
Options :
7155058187, A-IV. B-IL, C-1. D-III

7155058188, A-III, B-1. C-II, D-IV

7155058189, A-1I, B-1, C-IV, D-III

7155058190, A-L, B-IV, C-IIIL, D-II

Question Number : 35 Question Id : 7155052603 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



WlfeTPdl I & II (e

LISTI LISTII
A |ICP Kukreja [. IIM Ahmedabad
B. [Louis I Kahn II. Jawahar Lal Nehru University
C. [B.V Doshi IIT. IIT Kanpur
D. JAchyvut Kanvinde| IV |[IM Bengaluru
AItbd Regaf (A 5ife Gag g -
Options:

7155058187, A-IV, B-II, C-1, D-III

7155058188, A-1II, B-I, C-II, D-IV

7155058189, A-II, B-1, C-IV, D-III

7155058190, A-L. B-IV, C-III, D-II

Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which one of these is not a complimentary colour?

Options :

7155058191, Blue-Orange

7155058192. Red-Green

7155058193. Blue-Green

7155058194, Violet-Yellow

Question Number : 36 Question Id : 7155052604 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(PG AFHTS 98 W
Options :

7155058191, NIl ~PNed]

7155058192, <1I<1 315
7155058193. et NG

7155058194, (ABA -Ze[R

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In which State of India, Robbers cave is situated:

Options :

7155058195, Himachal Pradesh
7155058196. Uttarakhand

7155058197, Uttar Pradesh

7155058198, Madhya Pradesh

Question Number : 37 Question Id : 7155052605 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

wdlod (P 910517 Robbers ¥32] 9] Ellz..{a‘@ :
Options :
7155058195, [RATH AT

7155058196, WO UG
7155058197, OB AT

7155058198, NXT AT

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Choose the correct option among the following:
Petronas Tower is situated in:

Options :

7155058199. Paris

7155058200. Dubai

7155058201, Kuala Lumpur

7155058202. New York

Question Number : 38 Question Id : 7155052606 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Petronas Tower (<RI B4 %Kﬂ:
Options:

7155058199, AN
7155058200, AR
7155058201, ATl €[N

7155058202, fNB 2TEH

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
The Konark Temple is located in which state?

Options :
7155058203, Madhya Pradesh

7155058204, Odisha
7155058205. Karnataka

7155058206. Rajasthan

Question Number : 39 Question Id : 7155052607 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

(PRI NT:;IQ CRI= dl0\5) \Eﬂl‘iﬁ‘{\ﬁ

Options :




7155058203, NXT AT

7155058204, SO*!

7155058205, BTGP

7155058206. AMGrEA

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the Lotus Temple?

Options :

7155058207. Louis I Kahn
7155058208. Mohse Safdi

7155058209. Fariborz Sahba

7155058210, Richard Meyer

Question Number : 40 Question Id : 7155052608 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Lotus Temple <4 FAMS (F 2
Options :

7155058207, G121 X B




7155058208, LN M I

7155058209, I Iaaﬁ Gt X[=4

7155058210, TABNG (NG

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
A small lift for carrying only a small load is known as:

Options :

7155058211. A dead Bearer
7155058212. A Dumb Waiter
7155058213, A Jockey Boy

7155058214, A push upper

Question Number : 41 Question Id : 7155052609 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Fe OId 2D G OId (el (3 FIy AEe
Options :

7155058211, (O [AAAF

7155058212, OIF STACIE



7155058213, OGP IW

7155058214, 4T BT

Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Which are often referred as 'twin cities' of Odisha?

Options:

7155058215. Bhubaneshwar-Puri
7155058216. Puri-Cuttack
7155058217. Bhubaneshwar-Cuttack

7155058218. Bhubaneshwar-Rourkela

Question Number : 42 Question Id : 7155052610 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

@@‘ﬂ_ﬁ CGINGT #1244 JleT RITH4 LI Y
Options:

7155058215, RICVHT - :Jﬁ-

7155058216, “N4- POB

7155058217, ‘R ICNHL -POF



1155058218, QALY -AMGACPE

Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which 1s the correct chronology of Human Civilizations in terms of their existence?

Options :
7155058219, Mesopotamia-Harappa-Egyptian-Chinese

7155058220, Mesopotamia-Egyptian-Harappa-Chinese
7155058221, Mesopotamia-Chinese-Harappa-Egyptian

7155058222, Egvptian-Mesopotamia-Harappa-Sumerian

Question Number : 43 Question Id : 7155052611 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(PG NI HoTOd ADPH PletlnAld

Options :

7155058219, CNUTT TGN 212G * - 6r2f=f

7155058220, CNCAT TGN RGP N- 2 2]- 612~
2155058221, CNUATLGINI-BIR - 23 - 2 G *

7155058222, 2NOUATITN- (T UG- 2RISR



Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Qutub-Minar in Delhi was built by:

Options :

7155058223. Shah Jahan
7155058224, Jahangir

7155058225, Akbar

7155058226, Qutub ud-din Aibak

Question Number : 44 Question Id : 7155052612 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Delhi (9 Qutub-Minar 9 RIRIPIGE]

Options :
7155058223, *1R G

7155058224, \GURADT

7155058225, ARG

7155058226, 24 GH-M™ W23 F



Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which direction in the southern hemisphere would you get glare free (diffused) light throughout the
year’

Options :

7155058227. North
7155058228. South
7155058229. East

7155058230. West

Question Number : 45 Question Id : 7155052613 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
RIEFT (NS (ST SMSYTL VLA (diffused) ST ST TR (T4 IR

Options :

7155058227, OB

7155058228, AIAFCT

7155058229. Gkl

7155058230, A*5N

Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Who is the architect of the famous "Jawaharlal Kala Complex" in Jaipur?

Options :

7155058231, Raj Rewal

7155058232, Charles Correa

7155058233, Achyut Kanvinde

7155058234. Hafeez Contractor

Question Number : 46 Question Id : 7155052614 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Jaipur 4 QYIS "Jawaharlal Kala Complex" 49 3™ ® (F 2
Options :

7155058231, Raj Rewal
7155058232, Charles Correa

7155058233, Achyut Kanvinde
7155058234, Hafeez Contractor
Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
Dhajji-Dewarl is a construction style popular predominantly in

Options:

7155058235. Coastal Areas

7155058236. Plains

7155058237, Mountainous Region

7155058238. Desert Areas

Question Number : 47 Question Id : 7155052615 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Dhajji-Dewari FAOIHA! AN G =24 |
Options:

7155058235, O 1P DI

“_"1
7155058236, ~1H\9¢1 Wi
7155058237, 49T TG

7155058238, AW 3 D be

Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which stone is used for roofing in mountainous regions?
Options :

7155058239, Marble
7155058240. Granite
7155058241, Shale

7155058242, Sand Stone

Question Number : 48 Question Id : 7155052616 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
ARG SINGTTd BITH (BTN AT = =

Options :

7155058239. Marble

7155058240. Granite

7155058241, Shale

7155058242, Sand Stone

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Chandigarh 1s an example of which type of city planning.

Options :



7155058243, Radio Centric
7155058244, Grid-iron
7155058245, Linear

7155058246, Organic

Question Number : 49 Question Id : 7155052617 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Chandigarh (BTN YAV 123 AAFENE GURAY
Options :

7155058243, (AGS OGS

7155058244, R AV RED
7155058245, [e1A

7155058246, 7| il P

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

If you have to build on the seashore in Goa. which rooms would have the best view of the sea?

Options :

7155058247, L hose facing North



7155058248, Lhose facing South
7155058249 1hose facing East

7155058250, L hose facing West

Question Number : 50 Question Id : 7155052618 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Goa 7 SAFO(H (N FAC® Z( (B 99 (ATH G H 5w 2(J 2

Options :

7155058247, (T A3feT S@TYA

7155058248, (TSt AEFTYAL
7155058240, TV YA

7155058250, (ISl AFH a3l

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
"NIFT" National Institute of Fashion Technology, Delhi is designed by

Options:

7155058251. B.V Doshi

7155058252, C.P Kukreja



7155058253, Raj Rewal

7155058254, Bimal Patel

Question Number : 51 Question Id : 7155052619 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"NIFT" National Institute of Fashion Technology. Delhi (¢ A4 P FLARLEN

Options:

7155058251, B.V Doshi

7155058252, C.P Kukreja

7155058253, Raj Rewal

7155058254, Bimal Patel

Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List I with List IT

LISTI LIST II

[. |Empire state Building

II. [Hagia Sophia

8 !}_LEH?H'}'_l A II1. |Sydnev Opera House
LFRREREiLl

IV |Coloszzeum

L

| im——

Choose the correct answer from the options given below:
Options:

7155058255, A-IL, B-1, C-IV, D-III

7155058256, A-L, B-IIL, C-IV, D-II

7155058257, A-L. B-II, C-III, D-IV

7155058258, A-IV. B-III, C-II., D-I



Question Number : 52 Question Id : 7155052620 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

NG RACIGEIR IR GIR)

LISTI LISTII

[. |[Empire state Building

II. Hagia Sophia

II1. |Svdney Opera House

IV [Collozenm

NEA [AFgafe (ArF DS Bed A9:

Options :
7155058255, A-1I, B-1, C-IV, D-III

7155058256. A-L B-III, C-IV, D-II



7155058257, A-L. B-II, C-III, D-IV

7155058258, A-IV, B-III, C-II. D-I

Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Match List I with List IT

LIE-T I LISTII
o r_ﬁ
Al v ‘ﬁ [ |Tesla
B. II. |Ferrari
C. I1I. [Porsche
D. £&e || IV, |Toyota

Choose the correct answer from the options given below:
Options :
7155058259, A-IV. B-1, C-II. D-III

7155058260. A-IL, B-III. C-I, D-IV

7155058261, A-1II, B-II. C-I, D-IV



7155058262, A-IV, B-III, C-II, D-I

Question Number : 53 Question Id : 7155052621 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

DIGEIRARIGEI RS GIR

LISTI LISTII
A Qrzfﬁ [. |Tesla
. [Ferran
. [Porsche
[ [Tovota
B [RPHBIE (AP SIFF Bad A% -

Options :
7155058259, A-III, B-I1. C-II, D-IV

7155058260. A-IL, B-III. C-I, D-IV

7155058261, A-IIL B-II, C-1, D-IV



7155058262. A-IV, B-III, C-II, D-I

Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1
Given below are two statements:

Statement I : Red, Blue and Yellow are the primary colours of a colour wheel.

Statement IT : The colours which are positioned opposite to each other in a colour wheel are
known as complementary colours.

In the light of above statements, choose the correct answer form the options given below
Options :

7155058263. Both Statement I and Statement IT are correct
7155058264. Both Statement I and Statement IT are incorrect
7155058265. Statement I is correct but statement IT is incorrect

7155058266. Statement I is incorrect but statement II is correct

Question Number : 54 Question Id : 7155052622 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
faqfo 1 71 T & 20 96 HLapd AT 79

f3gfo 11: (TR 9 F WA [0 W0 24 I(0 8 b J 7 39
%i:?ll:a 4 a E‘\ﬂ

AL [GfOeferd SIS, 16 (93 RPgaf (&0F N God 77

Options:



—

7155058263. a§i‘~5 I “ds T_‘?l ‘ﬂi?ﬂ I B2 H9)

S —_

155058264, [IA@ 1 IR (M 11 BOHE BpT9)

i S e,

7155058265, f{3f® 1 5797 %8 [93f© 1 ©rT9)

F—

2155058266, 19O 1 B79] (5@ [YFS 11 5793

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following question consists of problem figures followed by answer figures. Select a figure from
amongst the answer figures which will continue the same series or pattern as established by the
problem figures.

PROBLEM FIGURES

M8 |

Options :

7155058267.




7155058268.

71550582609.

7155058270.

Question Number : 55 Question Id : 7155052623 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

BB B4 WY (A (96 [BFMD R A0S ATAR (RO 774 =7

PROBLEM FIGURES

0 ?

Options :

7155058267.



7155058268.

7155058269.

7155058270.

Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



How many triangles are there in given figure:-

AVAVAY
/N NN\

Options :

7155058271. 26

[
L

7155058272.
7155058273. 27

7155058274. 24

Question Number : 56 Question Id : 7155052624 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

RRHre Poafd Gyo |-

VAVAVAN
/N NN\

Options :
7155058271. 26
7155058272. 235



7155058273. 27

7155058274. 24

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Find the odd one out:-

7,9, 25, 32,43, 59

Options :

7155058275. 59

7155058276. 32

[
N

7155058277.

7155058278. 9

Question Number : 57 Question Id : 7155052625 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

([P0 (q9 F:-

1 9da, 324358
Options :

7155058275. 59

7155058276. 32



7155058277. 23

7155058278. 9

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A residential building has 15 floors. The height of ground floor is 4.2 meter (including length and
slab thickness). Rest all other floors are of 3.3 meter high (including slab thickness). What is the
total height of the building (from ground to terrace) in meters?

Options :

7155058279. 45.6 meter
7155058280. 30 meter
7155058281. 50.4 meter

7155058282, 51.6 meter

Question Number : 58 Question Id : 7155052626 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

15 O] JB(H IS MG Aooe 4.2 (O | ST 74 @ 3.3 BRI By | AMGHa
OH9] P97

Options :

7155058279. 45.6 meter

7155058280. 50 meter



7155058281. 50.4 meter

7155058282. 51.6 meter

Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Identify the mirror image of the given word:-

|
|
SUCCESS |
|
|

Options:

7155058283. & 4D Ué
7155058284. U DD HZ2
7155058285. SUCCESS

7155058286. SSECCUS

Question Number : 59 Question Id : 7155052627 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
(TS *F 7N AfSRE0 (@77 F9--

|
|
SUCCESS |
|
|



Options :
7155058283. & & 4D U

7155058284, 2 J ) Hee
7155058285. SUCCESS

7155058286. SSECCUS

Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The scale of a map is 1:1000. If a car travels 7 cm from point 'A' to point 'B' on the Map. Then how
much the car has travelled in original:-

Options :

7155058287. 0.7 km
7155058288. 7000 mm
7155058289. 7 km

7155058290. 70 meter

Question Number : 60 Question Id : 7155052628 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

(5 LR (4T 1:1000 ['A' (0 B [0S 615 MM 7 cm (VT , ST MGG 50
)[4



Options :

7155058287. 0.7 km
7155058288. 7000 mm
7155058289. 7 km

7155058290. 70 meter

Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A land size of 80 meter » 40 meter for a house design is drawn on paper at a scale of 1:100, then
what size is drawn on paper to represent the land?

Options :

7155058291. & meter = 4 meter
7155058292, 80 meter * 40 meter
7155058293. 8 centumneter * 4 centimeter

7155058294, 4 meter * 2 meter

Question Number : 61 Question Id : 7155052629 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

80 meter * 40 meter [0 GING BN 'ﬂﬁ 3@_@?@ I AT 1:100 (e TPl 2|
ST (A (AP GO (P N[ ] 2T



Options :

7155058291. & meter * 4 meter

7155058292. &80 meter * 40 meter

7155058293. 8 centimeter * 4 centimeter

7155058294, 4 meter = 2 meter

Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Find the missing number in given series.

16, 33,635,131, 261.1.....)
Options :

7155058295, 323

7155058296. 521

7155058297. 524

7155058298. 520

Question Number : 62 Question Id : 7155052630 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



(XANTS WYHZS ST (I F

16 33;:65: 131261 1)
Options :

7155058295, 523
7155058296. 521
7155058297. 524

7155058298. 520

Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
In a code language if ROMAN is written as TQOCP: then ITALY is.......

Options :

7155058299. KVCMA
7155058300. KWCNB
7155058301. KUCLA

7155058302. KVCNA

Question Number : 63 Question Id : 7155052631 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



HI(BMOF AT ROMAN 26 TQOCP: O(J ITALY 2......
Options:

7155058299. KVCMA
7155058300. KWCNB
7155058301. KUCLA

7155058302. KVCNA

Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Select a suitable figure from the four alternatives which will come in the empty box.

— | X | X | ©

)X
Bl

Options :

7155058303. D

7155058304. C



7155058305. B

7155058306. A

Question Number : 64 Question Id : 7155052632 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
I BN B[ (FW [RBFI6 W™

- X X O

(A) (B) (C) (D)

Options :

7155058303. D

7155058304, C

7155058305. B

7155058306. A



Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

The 3D figure shows the view of an object. Looking in the direction of arrow, identify the most
appropriate elevation from the given answer figures.

/!

Options :

7155058307.

7155058308.

71550583009.

7155058310.



Question Number : 65 Question Id : 7155052633 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Il 372 [ANTGP FI0 (O WG| O ME (ATF (1D TAAE ATACY GHol

]

Options :

7155058307.

7155058308.




71550583009.

7155058310.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Question figure shows top view/ plan of an object. Identify the INCORRECT 3D view from the
given answers figure.

Options :

7155058311.




7155058312.

7155058313.

7155058314.

Question Number : 66 Question Id : 7155052634 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

HTH IBI6 I8 OAR FAT M |7 | ([PF 3D T (I F4




Options :

7155058311.

7155058312.

7155058313.

LYOY

7155058314.

Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



How many surfaces does the object have?

Options :

7155058315. 9
7155058316. 10
7155058317. 8

7155058318. 11

Question Number : 67 Question Id : 7155052635 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

JBIHI FI0 O WY 2

Options :



7155058315. 9

7155058316. 10

7155058317. 8

7155058318. 11

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

If the question figure is cut into two parts, which of the answer figures complete the question figure
without any overlappings?

Options :

N

7155058319.

7155058320.



7155058321. "'-—
7155058322. IT g

Question Number : 68 Question Id : 7155052636 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ATHA QRGPS oIt O $A0E Oerdd (BH Bkt 56 202

NG

Options :

N

7155058319.




7155058320.

7155058321. “‘*-
7155058322, IJ—_\_KI S

Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The 3D problem figure shows the view of an object. Identify its appropriate top view from the
answer figures,

Options:

7155058323.



7155058324. ]

7155058325. -

7155058326.

Question Number : 69 Question Id : 7155052637 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time : 0
Correct Marks : 4 Wrong Marks : 1

AT IF0 I8 (aNGS 9 (MOT T | 97 TIF G w45 79 B4

@

Options :

7155058323.

7155058324.

A

7155058325.




7155058326. —

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

[dentify the correct elevation when you look into the object from the marked arrow side of the plan
of the object.

M ) ()

A B G D
Options :

7155058327. D

7155058328. A



7155058329. B

7155058330. C

Question Number : 70 Question Id : 7155052638 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

bz® O [H1%d MP (ATF IFOI AT (AT J1B [AT6 16 2|

MY Y )

A B & D
Options :

7155058327. D

7155058328. A

7155058329. B

7155058330. C



Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

A paper is folded in a given pattern and it is cut at the end. Identify which pattern is formed when
the paper is unfold.

/
/
/
X
/ 0\ /_\ A
[ ] L
Options :
[ ] L ] :,.
r
-',.l’\/
[ ] - -
/-II‘\
v’/ | N,
7155058331.lte ele e

. T ; 4
g
& 4
- Y ]
//-ll ) .
'/" ", s
7155058332, l£0 _=le =
L L
L ] _.-“’ L ]
,f’/
L)
D
A
.’ ow
7155058333. . _*|* *

: as ;.
,//
L1
L] L [ ]
/.-"’l’lr;".\
. .
7155058334, ke sls &

Question Number : 71 Question Id : 7155052639 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



(MO TP AP0 (7 G P12 A5 (31T BI51 36T | BTG (4T U (1 7hio
RICRIRI

/
/
/
X
& 2 A A
. @
Options:
L L ] }.
s
oXo
- - -
O/Xfil'\\i
7155058331, kks__sle e

. ') } A
g
& i
™ Y i .
//lll o .
'l ™
7155058332, ks __sls o
L ] L]
] .
,r’/
L)
D
A
L V4 o
7155058333. ¢ e =

L ] aw [ ]
. A"
e
sns
. .8 .
. /;.’f;*'\ .

rd
7155058334, ks __ele @

Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

I

L7/ [/
A

Options:

7155058335.

7155058336.

7155058337.

7155058338.




Question Number : 72 Question Id : 7155052640 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AT AP0 T8I (GNP T (AT ST | OId M Al A (I3 4|

\/
"y
g\j
Q
N

Options :
7155058335.
7155058336.
7155058337.



7155058338.

Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The question figure shows the 3-D view of an object. Identify the correct view, looking in the
direction of arrow.

\

[

(L) [/
A

/

Options :

7155058339.

7155058340.



7155058341.

7155058342.

Question Number : 73 Question Id : 7155052641 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



TR AP10 IBF [ANGF 76 (ST SR A WP (AT ADF G40 (77 T4

o

/

Options :

7155058339.

7155058340.

7155058341.




7155058342.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
From the given options below, choose the correct plan of the 3-D object, when viewed from the top.

A

Options :

7155058343.

7155058344.



7155058345.

7155058346.

Question Number : 74 Question Id : 7155052642 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



OHF (ATH (M1 2 [aNTa P IBod AP @7 (d9 4|

‘;ﬂn

Options :

7155058343.

7155058344.

7155058345.




7155058346.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The second figure in the first part of the problem figures bears certain relationship to the first
figure. Similarly, one of the figures of answer figures bears the same relationship to the first figure
of the second part. Identify the correct option from the given answer figures.

e \\\\: ) f')

. (1] ] H

A B C D
Options :

7155058347.

7155058348.

7155058349.




7155058350.

Question Number : 75 Question Id : 7155052643 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

a1 PV B R 8 TR ) 4 P R T e E WY [ RGN |
M B ST 1T ST AN GG S 1 TR | GalAd R &
N F [SFH (33 F4

IMNAE

A B C D
Options :

7155058347.

7155058348.

7155058349.




%

7155058350.

Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Identify the true mirror image of the figure amongst the answer figures with respect to X-X

X

Options :

7155058351.

7155058352.




7155058353.

7155058354.

Question Number : 76 Question Id : 7155052644 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

X-X MCHF Bedd Bf9d &Y (TP Md B Afe3G (@9 F41

X

Options :

7155058351.
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7155058352.

7155058353.

444

7155058354.

Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
Choose the correct option amongst the answer figures which complete the series.

an

\ .

£

Options :

7155058355.

7155058356.

7155058357.

7155058358.




Question Number : 77 Question Id : 7155052645 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
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7155058355, L® 2
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7155058358.



Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Sheet is folded in marked format and cut led at last as shown. Identify from the options below, how
the pattern will be made when it's fully unfold?
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A B ( D
Options :

7155058359. B

7155058360. A

7155058361. D

7155058362. C

Question Number : 78 Question Id : 7155052646 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058359. B

7155058360. A

7155058361. D

7155058362. C

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



In the figure mentioned below find the missing series:-

ANNIAWAIAN
O @ @D

Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 79 Question Id : 7155052647 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

7155058363.

7155058364.

7155058365.

7155058366.

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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The diagram shows the supply and demand of different users for different items. Which of the
following is/are correct?

A. Sanitizer only meet 50% of the demand

B. Cosmetics has the least supply among all.

C. Among all, two items have equal demand but difference in supply

D. Among all, two items have equal supply and two items have equal demand.

Choose the correct answer from the options given below:-
Options :
7155058367, B and D only

7155058368, A and B only

7155058369, A and C only

7155058370, B. C and D only

Question Number : 80 Question Id : 7155052648 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :
7155058367. WY B 49D
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7155058368, ‘B4 A JJ<B

7155058369. BY A dRR C

7155058370, W4 B, C Ik D
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Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As

Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction

Time:0

Correct Marks : 50
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Draw a proportionate sketch of given reference image. Use black and white rendering techniques of
your choice,

Question Number : 81 Question Id : 7155052649 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50
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Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50

Use the basic 2D shapes found in a motor cycle and create an interesting 2D composition of your
choice, colour with any three colours of your choice.

Question Number : 82 Question Id : 7155052650 Question Type : SUBJECTIVE Consider As
Subjective : Yes Calculator : None Response Time : N.A Think Time : N.A Minimum Instruction
Time: 0

Correct Marks : 50
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